RTJ400 OPERATION

CHAPTER 14
Jig Parts

When ordering parts, please quote the jig model, serial number,
part number, part description and quantity required.

PART DESCRIPTION

Template Extrusion, Machined
Frame Extrusion, Machined
Left Hand Handle

Right Hand Handle

Cam Clamp Handles

Cam Lock Hold-Downs
Clamp Arm Lever Platforms
Clamp Arm Spring Washers
Latches

Latch Washers

Side Stops

Bit Depth Gauge, Plastic
Blockers

Clamp Pivot Nuts %4"- 20
Clamp Springs %4"-20x 2"
Clamp T-Bolts

Quick Reference Strip, Through Dovetails

Quick Reference Strip, Half Pitch Through Dovetails
Quick Reference Strip, Half-Blind Dovetails

Quick Reference Strip, 35" and 34" Box Joints
Quick Reference Strip, ¥1¢6" and 352" Box Joints

User Guide
Hex Key, 18" Ball End

Guide Bushing, Elliptical (eBush)
Pin Wrench

Dovetail Bit, 15"x 136" x 8°
Dovetail Bit, 12"x 12" x 14°
Straight Bit, 38"x 114"

Straight Bit, 12" x 1%4" Two Flute

Stop rod, Nylon, 18"

Bottom Handle Screws, 8 x 1%4"

Latch Nuts, Nyloc, 10-24

Top Handle Screws, 10 x 1%4"

Side Stop Screws, Button Head, 10-24 x 716"
Latch Screws, 10-24 x 34"

Side stop Nuts, Square, 10-24

See Parts Diagram on next page

PART NO.

2500
2505
2511
2516
2520
2525
2530
2535
2540
2545
2551
2555
2560
2565
2571
2575

2580
2581
2582
2583
2584

2590
2595

e10
730V

80-500
120-500
143-500

160

8618

260R
2065
6145
6410716
9130
9140

QUANTITY

—_ —_ —_ - ey bhhSdNNNhhhbﬂﬂﬂﬂ

N NDNNNDN




Jig Parts

RTJ400 User Guide

Chapter 14

Q

9140
2551

160

143-500— \




